Terraced House in Tarxien



Tarxien, South



€850,000

Reference No: 240061162-228

Total Rooms: 8

Floor Area (m²) : 157

Bathrooms: 2

Bedrooms: 3

Terraced House - For Sale - Tarxien

TARXIEN – TERRACED HOUSE - The ground floor features a welcoming living area, dining room, and a kitchen which leads directly to the back garden. The first floor consists of three bedrooms and a bathroom. The house also has an interconnecting basement 4-car garage and a large workshop, providing ample storage and workspace. Property is being sold Freehold. For more information or to arrange a viewing, please contact agent.

Features

- Kitchen/Dinette
- Entrance Hall
- Electricity Utility
- A/C
- Air Space
- Well
- Back Yard

Rooms

- Kitchen : 3.84 x 6.2 m (23.81 m2)
- Dining : 3.05 x 4.05 m (12.35 m2)
- Living : 3.05 x 4.27 m (13.02 m2)
- Double Bedroom : 3.96 x 4.87 m (19.29 m2)
- Double Bedroom : 3.96 x 3.35 m (13.27 m2)
- Double Bedroom : 5.66 x 4.45 m (25.19 m2)
- Landing : 1.21 x 6.45 m (7.8 m2)
- Bathroom : 2.62 x 3.4 m (8.91 m2)
- Bathroom Ensuite : 2.58 x 3.02 m (7.79 m2)
- Open Space : 1.99 x 0.9 m (1.79 m2)

- Ceramic Floor
- Water Utility
- PVC Piping
- Yard
- Space For Pool
- Balcony
- Garden

✓ Open Space : 1.98 x 0.9 m (1.78 m2)

Gallery























Jean Claude Portelli Coleiro RE/MAX Superior - Fgura

M: 77585833 E: jeanclaude@remax.com.mt T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta